
1. x + 3y = 2x + y일 때,
2x
y
의 값은?

① 1 ② 2 ③ 3 ④ 4 ⑤ 5

x + 3y = 2x + y, x = 2y

∴
2x
y

=
4y
y

= 4

해설



2. 다음 중 x = 1.24242424 · · · 에 대한 설명으로 옳지 않은 것은?

① 유리수이다.

② 1.2̇4̇으로 나타낼 수 있다.

③ 순환마디는 24이다.

④ 100x − 10x를 이용하여 분수로 나타낼 수 있다.

⑤ 분수로 나타내면
41

33
이다.

x = 1.242424 · · · 일 때,
100x = 124.242424 · · ·
−) x = 1.242424 · · ·

99x = 123

∴ x =
123

99
=

41

33

해설



3.
Å
1

2
x2 − 1

3
x − 1

ã
−
Å
3

2
x2 − 4

3
x + 2

ã
= ax2 + bx+ c 에서 a+ b+ c 의

값을 구하면?

① −5 ② −3 ③ −1 ④ 1 ⑤ 3

Å
1

2
x2 − 1

3
x − 1

ã
−
Å
3

2
x2 − 4

3
x + 2

ã
=

1

2
x2 − 1

3
x − 1 − 3

2
x2 +

4

3
x − 2

= −x2 + x − 3
이므로 a + b + c = (−1) + 1 + (−3) = −3

해설


